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Output: The set of winning states in (G, p,w) for player 1.

begin

if Q = @ then return @ ;

Let k* be the minimal priority in G. Assume w.l.o.g. that k* € {0,1}

Let G be the game G ;
1—0;
if k* =0 then
Ay «— @ /* over-approximation of Player-1 winning
states */ ;
repeat
A}« SolveEnergyGame(G;,w’) (where w’ is defined in
Lemma ?7) ;
X; «— Attri (A, Np=1(0)) ;
Let G} be the subgraph of G; induced by A} \ X; ;
Z; +— (AL\ X;) \ SolveEnergyParityGame(G%, p, w) ;
Ai—i—l — A; \ AttTQ(ZZ‘) N
Let G;41 be the subgraph of G; induced by A;11 ;
t—1+1;
until Ai = Ai—l;
| return A;;
if k* =1 then
By «— @ /* over-approximation of Player-2 winning
states */ ;
repeat
Y; « Attro(B; Np~ (1)) ;
Let G;41 be the subgraph of G; induced by B; \'Y; ;
B; i1 < B; \ Attri(SolveEnergyParityGame(G,41, p, w)) ;
t—1i1+1;
until Bi = Bi—l;
| return Q \ B;;

end
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